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?@O %LE ™ :\:\: @ C % '_’2') ' 8-2. The oéen—ended polyvinyl chloride pipe has an inner

U — diameter of 4 in. and thickness of 0.2 in. If it carrics flowing

water at 60 psi pressure, determine the state of stress in the

walls of the pipe.”
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Criive @) 8-3. If the flow of water within the pipe in Prob. 8-2 is
-1t \;f__r_(L - stopped due to the closing of a valve, determine the state ot
. stress in the walls of the pipe. Neglect the weight of the
t S0z n water. Assume the supports only exert vertical forces on the
: pipe.
e U o< 2 W -
p
p= bOgw
REQUIRED o7

Prohs. §-2/8-3

C_\”/%L ?‘?{ w al CLJ-Q“\W&?'\EM W%SMV%QA -

. _ _ ) .
rvice, )&\:a gige v & e e dod - L X dicesnlt \ave

\ L &On@\"\U&‘tqu cATetSeS (r-e)

O’L:QZO

ctyess (r-e
NS R Ve paly VI0PY >)

%

T Az Iy = n

S oye BUX T o boves

s

O

IS Lop PSL

ﬁfi: ©




PeoplbH (2 (2-4)) -

LT NI~

e

a———

(e l-

am——

= —_ \
TN A = 3

\
~= = ’:\'5\: L2

2
~ ol
c\e avea % g feok \“‘SDPS“ZM&
S S R SL

Q- RS

Qe GuuEERL

e 3515;\
Ny U

>, e Ay xt) — P (25 =0

SR C"n\s&) - 2Pes S0
_—— o hed

7

_ \’Z,XlOEY o "2~
3 6= - =

VR X H

CoQ - 3% %ire

340
§-0. A wood pipe having an inner diameter of 3 ftis hound
together using steel hoops having a cross-sectional aree of
02 in®. If the allowabile stress for the DOOPS 15 0y = 12 Kst.
determine their maximum spacing s along the section of pips
so that the pipe can resist an internal gavge pressure Of
4 psi. Assume each hoop supports the pressure foading acting
along the length s of the pipe.
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8-19. The offset link supports the loading of P = 30 kN,
1 — Determine its required width w if the allowable normal stress

is Canaw = 73 MPa. The link has a thickness of 40 mm.
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i *$-20, The offset link has a width of w = 200 mm and a
‘ - thickness of 40 mm. If the allowable normal stress is U paw =

Coive)— 75 MPa, determine the maximum load P that can be appliec
- to the cables.
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8-39. The cylinder of negligible weight rests on a smooth
floor. Determine the eccentric distance €, at which the load
can be placed so that the normal stress at point A is zero.
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8-50. The crane boom is subjected to the load of 500 ib.
| Determine the state of stress at points A and B. Show the
i tesults on a differential volume element located at each of
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PE@@ LE H M Cg_g\&i} f_ §-55. The l-in.-diameter rod is subjected to the loads
—_— o S shown. Determine the state of stress at point B, and show

the resuits on a differential element located at this point.
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| ProgLEM HEF) (8-73))

! e A e —T 8-77. The wide-flange beam is subjected to the loading
shown. Determine the state of stress at points A and E, and

|

how the resulls on a differential volume element located at
o) - 5 ¢
Se l;\i——-r~ | each of these points,
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